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M (HEH)FLUXXIDIB2 S
el AXEsKA (el &)
- _ — Pl
S - CRA(EH) - MRAY - BaS 0] &k o8 St =2
O=2lutel et AL 2Ba=3
3,000& *150F 13l 450
OMII=AES Jlsus 48X 243
8,000& «200H 1,600
CEessMINSESsIE 8,000 7,400 600
MESEPIPNE=VA (k=P 2,000 1,800 200
201 YEr2ZH] 1,500 1,350 150
03 A2 Z HI 1,500 1,350 150
OFLNF - AIIXN=H EAM2E
1,500,000 *13l 1,500
301 et ag 500 450 50
09 HAAHIZ &3 500 450 50
OF 2= - FIXN=HM ML 243
500,000& * 13| 500
CEssSMIRES 6,000 5,600 400
201 LBt 2,000 1,800 200
03 AAH2 S HI 2,000 1,800 200
O NHHEH2Y 500,000& *43| 2,000
202 04dl 2,000 2,000 0
01 =20 YI 2,000 2,000 0
OE=s=sMUTESs Y| 50,0002 x5 «8 2,000
301 et ag 2,000 1,800 200
09 HALAHIE &3 2,000 1,800 200
OS=s=MUIE AT 243 500,000 43 2,000
HEEAXTY 360,646 99,082 261,564
szl 142,193 32,252 109,941
101 2124 4| 25,913 15,972 9,941
04 J12ZEMZ22 RS2+ 25,913 15,972 9,941
OdtAHY S IR (XS0l AKXIAL) 7,424
ooy 60,2402 1990 5,422
o524 60,2402 x1H x 13 784
OdAxt=< 60,2402« 1H«3& 181
Oz &l 3,000 =18 90 270
O4liEe= 6,385,440 *12% 767
OdtAHY S QR (KAL) 10,563
oI 86,680& x 190 7,802
o5+ 86,6803 x1H 13 1,127
OEXt=4 86,680 x 1 +3& 261
O=gHl 3,000 =18 90 270
o4t = 9,188,080 *12% 1,103
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OMEDIHdEE oL 66,0503 *4H +30 7,926
201 2 EH2HH| 31,280 1,280 30,000
01 AFR 22l bl 31,200 1,200 30,000
O Bt=ZH| 31,200
OMUDIdEE & 100,000& 128 1,200
OMgoIdEE A SHIIS?E el
30,000,000 *13 30,000
02 2323l 80 80 0
OCHAH YA &4 tH2EE
40,0003 24 80
206 T =4I 15,000 15,000 0
01 M=l 15,000 15,000 0
oHYE &7 24 15,000,000& *12] 15,000
401 Al & HIZ 2 0HHI 70,000 0 70,000
01 A&l 70,000 0 70,000
OMEIIHEZ JHEA 70,000,000& * 14! 70,000
SSstEa el 6,721 6,721 0
101 1A 4] 5,021 5,021 0
04 JI12ZHMIZ22 A s e+ 5,021 5,021 0
OZsst&Ea a0 5,021
ooy 25,000 *2H 96 4,800
oslieg=(10E 4,800,000& *4.6% 221
201 2 EH2HH| 1,700 1,700 0
01 AFR 22l bl 1,200 1,200 0
OgBt=2H] 1,200
OZSHHEES 50,0002 *200 2+ 122 1,200
02 25234l 500 500 0
OAEZHIRXIHI 500
O=sat&E4a AMEZEHIK|XH 500,000 *14] 500
E=UNRSEED) Pl 211,732 60, 109 151,623
101 214 4] 22,732 20,109 2,623
04 J|12ZtHMZ2Z2REES 22,732 20,109 2,623
OFAMZC|URY 22,732
oogy 61,2803 «1H «249 15,259
O=F=¢ 61,280 * 1B +52== 3,187
OdXt==< 61,2802 x 110 613
OgE S| 400,000 *1H %23 800
o4 = 18,937,000 *12% 2,273
Oz &l 50,000 «1H 122 600
401 Al & HIZ 2 0HHI 182,000 40,000 142,000
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01 Al2H 182,000 40,000 142,000
OB A F=XE &E 140,000,000 * 14 140,000
oASXxtE XX &X 30,000,000 *14] 30,000
O=Xal2 d=FAt 12,000,0002 141 12,000
405 XhakF SH| 7,000 0 7,000
01 L =S FISH 7,000 0 7,000
oiEd #Fd 7,000,000 14 7,000
FAUXAEH 2 51,760 42,540 9,220
FUXXEEH 29 51,760 42,540 9,220
201 2Er2gH| 49,560 40,440 9,120
01 At22t2lHl 49,560 40,440 9,120
oget+=EH] 6,960
OZ=z1d 2g ARESH
80,0002 612 5,760
Od+ & HF4LE3HI 100,000& 122 1,200
oz2g=+¢ 42,600
OZQINXISBE BIOBM g
70,0002 x25& x 122 21,000
OFUXNXHE T2 08 ZAIE
300,000 «6& « 122 21,600
202 o4l 1,200 1,200 0
01 =W ol 1,200 1,200 0
OF2UXRHEH HEFE 04H
50,0003 x2H » 12 1,200
301 2etE &= 1,000 900 100
09 HAIAHIE &S 1,000 900 100
OFLURXHE HS&X st 1,000,000 13 1,000
(FEH)XAp 135,494 133,694 1,800
INEEFag=P 135,494 133,694 1,800
d8H =ESe 12,594 10,794 1,800
101 1A H] 9,594 9,594 0
04 J1ZtHZ2 2 NS E+ 9,594 9,594 0
OE=ZH8 Nx=&/Y 2UFY 9,594
ooy 150,000 x5 & x4 2 x33| 9,000
OF=1=1:] 3,000 x56& x4 & »32 180
O4UEE (1S, 4HH) 9,000,000 *4.6% 414
206 M =l 3,000 1,200 1,800
01 =4 3,000 1,200 1,800
O=E3d3 225 7 250,000« 122 3,000
22 XeEzgne 122,900 122,900 0
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TH'O&'J‘T‘I(QI}I).HITAI-:I.{EO—I 01'&—- 0:"&.0” HIDLED
206 M Z HI 2,000 2,000 0
01 M= 8l 2,000 2,000 0
O MEOIRAAIYE MZHl 2,000,000& *14] 2,000
401 AlEHIL 2 0HHI 120,900 120,900 0
01 Al &HI 120,000 120,000 0
QLA MEDIRA A 20,000,000 * 14 20,000
OXNSFZFSE ML ASA 100,000
Oz ,YXN s2Z& 2 =23 4|
20,000,000 * 14 20,000
OTE 718 s2X & 2 =2 8|
20,000,000 *14] 20,000
O=8 A& s2Z& % =2 8|
20,000,000 14 20,000
Ottt 28 s2 2 L tHe+=2 34|
20,000,000 * 14 20,000
ong,e=2 sz22& 2 =2 38|
20,000,000 *14] 20,000
03 Al 201 900 900 0
OXN AL ASA 100,000, 000& *0.90% 900
HESAAY|(HEH) 289,246 286,924 2,322
ol 2 H| 110,179 105,516 4,663
ol 2| 110,179 105,516 4,663
101 @124 4| 110,179 105,516 4,663
012+ 42,002 38,650 3,352
OAZ2R+E 42,002
O=; 11,0743 x5 x30Al 2tx 12 19,934
or=a 10,0033 x 1 x30Al 2tx 12 3,602
O = 8,980 *3H *30A| 2+ 12& 9,699
092 8, 1173 *3%H *30A| 2+ 12& 8,767
03 RIHLZZ2 XN ES 68,177 66,866 1,311
O AR 68,177
oJl=3 1,548,560 2H x12& 37,166
OFJCE= 1,548,560& x2H 43| 12,389
OY & FOtYI 500,000 x2H +23] 2,000
OAlZ2t2 225
11,2343 x2F «15A] 2H+150%+ 122 6,067
Ot 11,2343 x2H *BA[ 2tx 12 2,157
O =]
11,2343 x2H +8A| 2t *150%*6 1,618
Oonse 140,000& 128 1,680
O1ul=tl 150,000& x2H 13| 300
Ofgs< 50,000& x2Y *12& 1,200
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HE: ANSAAY (B
Chel: Q2| iR
A - FB . G(EH) - MRAY - BYS Ofl &k o8 e =2
O/l 30,0002 x2H12& 720
Ous2 x| 50,0002 «2H12& 1,200
OFAZ 4| 70,000 x2Y x 122 1,680
Jl2Zl 179,067 181,408 A2,341
Jl=2&Hl 179,067 181,408 A2,341
201 YEr2Z ] 129,127 126,548 2,579
01 At 22|l 37,227 34,648 2,579
O Et=+=2Y| 21,057
O&AN2ESEH| 300,000& 12 3,600
OJIZAIREEHI 250,000& x12& 3,000
OAS LA = 100,000& 128 1,200
OdE ¢ Xl 58 150,000& 123 1,800
OAZE ZIIEHE 50,0002 204 1,000
OZelH Edxd 300,000& x6IH*23] 3,600
OzZd ZelH EW+7g  600,000&*1H*13] 600
OHA & SAD EH7Y
200, 000& 201 33| 1,200
ORAHINAY BAS 42
230,000& x12& 2,760
O 2eld| === 50,000& x12& 600
OHIIHNMEH =2 220,000 *23| 440
OFEAMSEAHIOEEZ 24,9002 *20112& 598
OZ=J|dE=z 54,9002 =101 +12& 659
o2g+Y 13,290
O &l 50,000& 117 5,850
O=2Al 30,000& x248 7,440
O= &l 2,880
OortZ28 & sS4l 8,000& »12H 30 2,880
02 23224l 91,900 91,900 0
033223 & HA 71,930
(OFSPIE=2= 5,000,000& x12& 60,000
ORERI 450,000 128 5,400
OJIEE32= 2 HAl 100,000& x12& 1,200
OXNHEE= 350, 0002 *3CH 1,050
OXNLANITA eEREZ 770,000 x4 3| 3,080
OFEAMEEY & BasHE
300, 000& *4H 2~ 1,200
O =l 1,370
Od-e)| S Azl 1,370&*1,000 £ 1,370
OA&EHI =Xl 6,000
OEAN & =X32 AIZEHIKX b
500, 0002 271 2 +33] 3,000
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SA - HH SR (B) - MRAY - BAS il &t e imE=T

Ox=&dsXlzteld| 2,000,000& %13l 2,000
oIl & ==cltl 200,000 *5CH 1,000
OXtgf & ] 12,600
OV G=EINL:] 350,000 *3CH+12& 12,600

202 oddl 34,400 33,900 500

01 =20 YI 3,200 2,700 500
O3loa&s o HUHARFEA 50,0003 -8H 8L 3,200

02 MY 31,200 31,200 0
OFHNHI 200,000 x 13+ 123 31,200

203 R F&H] 9,540 9,460 80

01 J122Z LR 5,940 5,940 0
OJI 22| 550,000& *12& *90% 5,940

02 HRIHAtH =] 600 520 80
OF A IS R FEH| 40,000 *15% 600

04 RN2ILRFAH 3,000 3,000 0
ORMN2IHRFAH| 250,000 x12& 3,000

405 KH&bF SHI 6,000 11,500 5,500

01 Xt L ESF=HI 6,000 11,500 A5,500
ogstzs &%) 2 6,000,000 = 1CH 6,000




